3M005B Pupil Tasks Plan couk

Master Standard Partitioning (3 digits) B

Fluency 1 Fluency 3

Complete the stem sentence. Combine using the part-whole models and equations.

--- ‘ N ‘

200 +10 =
Fluency 2 Fluency 4

combine to make 900 +50+8=__

Reasoning, problem solving, answers and
teaching slides are available with a subscription.

Complete the stem sentence. Partition using the part-whole models and equations.
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Master Standard Partitioning (3 digits) B

Fluency 5 Fluency 7
c
Combine using the part-whole models and equations. Combine using the equations. %
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20 + 6 + 300 = % o
970 + =974 + 27 =427 603 + =673 a§
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Fluency 6 o3
400+70+___ =475 cd

Partition using the part-whole models and equations.

@ ____+800=870 909+ __ =959

48 + =148
844 - - 804 517 - = 510 238 - =38
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Master Standard Partitioning (3 digits) B

Fluency 8

Partition using the
equations.

2o

+ +

509 - =500

Fluency 9

Fill in the missing numbers.

342-40=___
342-300=__
342-2=___

+ + =342

Fluency 10

Fill in the missing numbers.

200+30+9=__
189-__ =109
700+ +1=7M
8+600=__
537-___ =530
_ +23=923
__+4+___ =754
+ =430

883 - =83

Fluency 8

Partition using the
equations.

] 1

+ + =291

+ + = 634

509 - =500
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Fluency 9

Fill in the missing numbers.

342-40=___
342-300=___
342-2=___

+ + =342

Fluency 10

Fill in the missing numbers.

200+30+9=__
189-__ =109
700+ +1=7M
8+600=__
557-___ =530
_ +23=923
__+4+__ =754
+ =430

883 - =83

Reasoning, problem solving, answers and
teaching slides are available with a subscription.
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